PRO ZAKY, KTERI NEDELAJi PRIJIMACI ZKOUSKY

OPIS DO SESITU (NEBO VYTISKNI) A VYPOCITEJ:
1)Zjednodus:
a) (3c+7)+(10c-5)=

b)3a—2b+5+(20a-10)=

¢) (-h?+2)+(-h? - 4)=

d) (4ab+3c—4)+(-7ab+7c-8)=
e) 10k —9m + (+8m — 7k) =

) (a® +b? + 2¢)+ (3a® ~b? + 2¢) =
9) +(=3r +12t)+(—6r +3t2)=

hy x* — y? +10 + (+ 2x2 ~10y? — 21) =

i)1a+lb+(£a—lb)=
3272 2% 7%

j)0,2x2+%y2—2+(§x2+1y2+§j:

5% “8Y 77
k)(lb—§a—3j+(1a—3b+zj=
70 8% 3) 6% 7373

|)+(3d—leJ+(1d—1e+ﬁj=
9" "10°) 6" 375

2)Zjednodus:
a) (8m+14)—(-10m-15)=

b) 3k — 71 +5—(20k —10)=
c)3gh—15—(-gh-4)=
d)-(7c-14)-(9c +12) =

e) 20 -12m—(-23-7m)=

f)—3d —(—2f)—(4d +5f )=
9)-(a+b+3)-(2a—-4b-14)=
h)5—(-a?)+ (- 2b?)— (a2 —b? +3)=

2 1 ( 1 3 j
-U+=W—|—-=U+—W|=
3 4 3 4
L1 (2 5) 5
J)==r—|=r+=s|+=r=
5 5 6 6
k)—(o,4t+1t2j—(it—0,25t2j=
2 10
(o33
2 2 4 3



RESEN|i — PROVED KONTROLU
1)Zjednodus:
a) (30 + 7)+ (100 75): 13c+2

b)3a-2b+5+(20a-10) = 23a-2b -5

c) (— h2 +2)+ (— h2 —4): —2h2 -2
d) (4ab+3c—4)+(— 7ab+7c—8)= —3ab +10c - 12

e)lOk—9m+(+8m—7k)=3k—m
) (a2 +b2 +2c)+ (3&12 —b2 +2c)= 4a2 +4c
g) +(73r+12t)+(76r+3t2):3'[2 -9r +12t

h) x2 - y2 +10+(+ 2x2 —1Oy2 —21): 3x2 —lly2 -11

1 1 1 1 5 1
i)—a+—b+| —a-—b|=—a+—b
3 4 2 6 6 12

2 1 1 1 1 7 13 1
N+ —d-—e|+| —d-—e+l— [=—d-—e+1—
9 10 6 3 5 18 30 5



2)Zjednodus:
a) (8m + 14)— (— 10m - 15) =18m + 29

b) 3k — 71 +5 - (20k —10) = 17k - 71 +15
¢)3gh—15— (- gh—4) = 4gh—11

d) - (7c-14)- (9c +12) = ~16¢ + 2

e) 20— 12m—(~23-7m) = ~5m + 43
t)-3d—(-2f)-(4d+5¢)=—7d -3¢

g)—(a+b+3)—(2a—4b—14)=—3a+3b+11

h)57(7a2)+(72b2)7(a27b2+3):7b2+2
2 1 1 3 1
i)—uU+—W—| ——U+—W |[=u-——w
3 4 3 4 2
1 2 5 5 7 5
D-——r—|—-r+—s|+—-r=—r—-—s
5 5 6 6 30 6
1 3
k) - 0,4t+—t2 - —t—0,25t2 =—0,7t—0,75t2
2 10
1 5 1 2 5
N-|-1—a|-|{—a+—|[-| -——|[=-a+—
2 2 4 3 12



